
SAP ABAP table PSO31 {Allocation of customer/objects}

PSO31

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

PSOOB [CHAR (12)]

BANKS [CHAR (3)]

BANKL [CHAR (15)]

BANKN [CHAR (18)]

BNKA

MANDT [CLNT (3)]

BANKS [CHAR (3)]

BANKL [CHAR (15)]
 PSO31-BANKL = BNKA-BANKL 0..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)] PSO31-KUNNR = KNA1-KUNNR 0..N

1
PSO27

MANDT [CLNT (3)]

PSOOB [CHAR (12)]

 PSO31-PSOOB = PSO27-PSOOB 
0..N1

T000

MANDT [CLNT (3)]

 PSO31-MANDT = T000-MANDT 

0..N

1

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 PSO31-BANKS = T005-LAND1 

0..N

1


